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Second Level: Number and Number Processes 

Word Problems 
If 7 cars arrive at the zoo at the same time, each with 5 passengers. How many people arrived?

In the shoe cupboard there were 48 trainers. How many people would be able to wear a pair of trainers?





There are 19 cars in a car park. How many wheels are there?


The class are selling boxes of sweets. Each box can hold a maximum of 25 sweets. There are 240 sweets. How many boxes will the class need?
6 pizzas get delivered. Each pizza is cut into 8 slices. If there are 12 people, how many slices of pizza will each person get?
If 12 people went to the cinema and paid £5 each to get in, how much did the cinema make on ticket sales?
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